
 

1. Expand and simplify 
a. 3𝑥(5 − 2𝑥) − 3(2𝑥 − 4) + 7𝑥ଶ 
b. 3(2𝑥 − 1)ଶ − (2𝑥 + 3)(𝑥 − 2) 
c. (2𝑥ଶ − 𝑥 + 3)(𝑥ଶ − 2) 

2. Simplify and state the restrictions 

a. ିଷଶ௫య௬ర௭మ

ସ௫ర௬௭య
 

b. ௫మିଶ௫ିଵହ

௫మିହ௫
 

3. Factor the following fully 
a. 21𝑥ଶ − 3𝑥 
b. 𝑥ଶ − 5𝑥 − 84 
c. 4𝑥ଶ + 20𝑥 − 24 
d. 81𝑥ଶ − ସଽ

ଶହ
𝑦ଶ 

e. 𝑎𝑐 + 𝑏𝑐 − 𝑎𝑑 − 𝑏𝑑 
f. 5 − 80𝑥ସ 
g. 2𝑥(3𝑎 − 𝑏) − 3𝑦(3𝑎 − 𝑏) 
h. 8𝑥ଶ + 14𝑥 − 15 
i. 5𝑎ଶ𝑏 − 5𝑎𝑏 + 3𝑎 − 3𝑎ଶ 
j. 𝑥ଶ − 2𝑥𝑦 + 𝑦ଶ + 𝑥 − 𝑦 

4. Simplify 

a. ସ௫మିଵ଴

ଷାଷ௬
×

ଶ௫మିଵ଼௬మ

଺௫మିଵହ
 

b. ଼௔௕

௔మିସ௕మ
÷

ସ௕మ

ଷ(௔ିଶ௕)మ
 

c. ଶ௫మା଻௫ାଷ

ଷ௫మାଵଷ௫ାଵଶ
×

ଷ௫మିଶ௫ି଼

ସ௫మାସ௫ାଵ
 

d. ହ௫

ଷ௬
−

଼௫ିଶସ

଻௫
+ 1 


